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Time allowed for the test: 50 minutes
HIEmEFfE - 50 57

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36

Answer ALL questions.

Write your answers on the answer sheet.

ARl < A

Write your name, class and class number on the answer sheet.

You may do your rough work in the blank space of this test

booklet and there is no need to rub it out after the test.

guestions.

The use of calculator is not allowed.

B4 IR

o & N

You can use a pencil or a black/blue ball pen to answer the



Note:
Not all diagrams are drawn to scale.
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SECTION A (60 marks) v 2K (60 4)
Choose the correct answer. You only need to EAND IR E R o B N UEE A
write down the letter preceding the selected e 2 A o
answer. ‘
1. The total collection of a library is 1. B3 R BB TNED
2 600 000 books when corrected to L @3 =15 2600000 & » 12 % B~
the nearest hundred thousand and ITMELTE s 5 2650000 A~ o
2 650 000 books when corrected to TR~ BV A A3 B2
the nearest ten thousand. Which of e 3O e ?
the following could be the possible
total collection of the library?
A. 2643 000 Corrected to the  Corrected to the A. 2 643 000 BT iUl BT
nearest nearest L jg’]’i = iffi
I 2 646 000 hundred thousand  teh thousand I 2 646 000 A 2600000 2640 000
A. 2600000 2 640 000
C. 2653000 B 2600000 2/650000  C. 2 653 000" 2000000 2650000
C. 2700000 2650 000 C. 2700000 2650000
D. 2656 000 p. 2700000 260000 D.2656000D. 2700000 2660000
2. The price of a notebook is $34. One | 2. - A X8 § {$34 ' PLR
extra free notebook will be given 6 AV EECHIER - Ao 4eF R
when buying 6 notebooks. Miss B 25 A% e RS
Chan needs to buy 25 notebooks. b9
How much should she pay at least?
A. $612 One extra free notebook will be A. $612
given when buying every 6 LY 6 A7 gE ZEP%' - & Tt
notebooks’, so only the price R 25 AE e R E i 22 Aeh
I $748 for 22 notebooks should be paid I $748 ] j; '
for buying 25 notebooks. Y
C. $816 she should pay at least C. $816 3422
34x22
- = $748
D. $850 %748 D. $850




3. All factors of H are:

Which of the following is not a
multiple of H?

l88 H=1x H

H=77
B. 154 The multiples of 77 are: 77, 154, |

C.231
D. 308

1,7,11,H

=7x11

?31, 308...

1

TR — B

B

B. 154
C.231
D. 308

3. H e d Fc
~7-11+H

FE_Ha2#E?

H=1xH
=7x11
H=77

17 i gf 77154231 308

4.1, 2, 6 are used to form the largest
3-digit number which is a multiple
of 6. Each number should not be
used repeatedly. What is the H.C.F.
of that 3-digit number and 90?

A.3

Since the multiples of 6 must be eve
l 18 numbers, 621 and 261 are eliminated,

C. 15 the largest one is 612.

D.6

All the 3-digit numbers are arranged

0 descending order: 621, 612, 261, 216,

126.

Of the remaining numbers divisible

612 divisible by each option in turn:
A. 612+30=20...12 - 90+30=3
B. 61218 =34,90+18=5

in

y 6,

C §12:.15=40...12 - Q015§

162,

4. % 126 e - Bios Pz TH

P 6 REF BHF AV

AR

259

A. 30

Bl s

C.15
D.6

2% = 1= #cfe 90 s H.CF.

EA Gz mded 4 PR KA

621 > 612 - 261 > 216 > 162 > 126 -

d 3 6 et How LA # % 621

o261 0 AT iLAR 6 TR T it ik

612 -

fo 612 k=t rp 1 & T

A. 61230 = 20-+-12 » 90+30 = 3
B.612:18 =34 > 90+18 =5
C.612+15=40---12 » 90+15=6
D. 6126 = 102 > 90+6 = 15

D. 612+6 =102, 90+6 = 15
The H.C.F. of 612 and 90 is 18.

4 612 4 90 9 H.CF. 4 18



5. The above figure is formed by 3
regular hexagons of the same size.
What fraction of the whole figure is
shaded?

P BIEd 3B AR L 2 E
A e RS 2RSS 2

1 : o 1 .. o
= The whole figure can be divided into - EFERRTAXI18EKE
A. 2 18 equal parts. There are 7 shaded A. 2 ;3/,,\ T o Tuieﬁ 2R ik
7 parts. 7 7
I 18 S0 15 of the whole figure is shadgd. I 1§
2 5
1 1
3 : 3 -
6. There are 3lzkg of apples in the 6. kK% 1} ¥ % 317 kg FeF L %
: 3
fruit shop. The peaches are 5§kg % 5§kgo KERP £ Efops
heavier than the apples. What is the 509
total weight of apples and peaches
in the fruit shop?
A. 3720kg The total weight of apples A. 37—kg 'k 5‘ LR ;5?5‘ fore+
and peaches IS 31_+(31 +55)
== 31—+(31—+5 3) ==
B. 42 kg 5 B. 42 kg _ 691_0(kg)
9 69—(kg) 9
C. 57—kg C. 57—kg

I 6910kg

I 691—Okg




. 4
7. - ¥ %% & 15zm

) .4
7. Aroll of ribbon is 15§m long. U 4 - L
After half of it is used, how much is 3 I
left?
19 19
A. 3_ 1531 A 3— f;ﬂ .
59 2 15g %3
I 1= = ;E I 7— _ 7%(m)
10m ribbon is left.
C. 93 C. 93
3 3
D. 315m D. 31gm
3

1 I :
8. 10§L of milk is poured into glasses
: 3
of capacity of ZL each. How many

glasses can be filled?

A7 13
1032
=14

I 14 There are 14 glasses can
be filled.

C.16

D. 28

8.

1
F AP I0L Tt B A

£
|

7R e

A7 s
103+
I 14 =14
U 14 B e
C.16
D. 28

9. The weight of a baby is 4.31kg, and
the nurse wrote it as 3.14kg by
mistake. What is the difference in

value between the two ‘4’s?

A.0.36 The difference in value
between the two ‘4’s is
4—0.04

B.36 1.

C.3.9

9.

Bt E ¥ 431kg E L n 2
314kg > & B T4 | eh#ciEfp £ 5
PR

A. 036 & i |_4J i Ap £
4—0.04

B.3.6 =39%

C.39

Blsos




10. Which of the following has the
largest value?

A.8.8+8+0.08 A. 16.88
B. 96.16
C.96.88
B. 88-+8.0840.08 5 8968

Blss508+038
D. 880.8+0.83

10. T A|UR— JE B < 7

A.8.84+8+0.08
B. 88+8.08+0.08
I 88+8.08+0.8
D. 88+0.8+0.88

11. The price of a bottle of coke is $26.
A reduction of $52 is given to the
purchase of a box of 13 bottles of
coke. By how much is a bottle of
coke cheaper on average?

A. $12 On average, a bottle of coke
is cheaper by
52+13

B. $8 =$4

Bl 54

D. $2

11, & 537 # e 1§ £926 - AT -
fE 13 5LenT & 7 LR $52 -

T T EGE G 50 Q

A, $12 TmEsmy#qy
52+13

B.$8 - $4

85

D. $2

12. Jack has 37 $5 and $10 vouchers
altogether. They are worth $245. If
Jack has 13 fewer $10 vouchers than
$5 vouchers, how many $5 vouchers
does he have?

A 12

$5 vouchers | \
B. 24

$10 vouchers

Bl 25

D. 30

He has
(37+13)+2
= 25(vouchers)

12. % ¥4 $5v$10 M 4 % £ 37 38
T A E$245 o 4o % i #$10 T
EX 0S54 XS 1356 0§ 95
BEX 5 %Y

A 12
37+ 13) St | £ (37+13)
B.24 %
puchers womgs[ | 1% 1 *

25
“ASsMAE S
(37+13)+2
D.30 (I




( ) 4cm ( ) 8cm
( ) 4cm ( J 8cm
( ] 4cm

13. If all of the above five plastic sticks
are used together to form a
quadrilateral, which of the
following quadrilaterals can be
formed?

I. rectangle
I1. parallelogram

[11. trapezium 4cm
4cm
=

A. 1 only

8cm

I [11 only

C. Il and Il only

D. 1, Iland I

13, ho% b pER * b T G5 2
- B AT L A T R
/2w 135 9

. £
IR £V
1. 152
© 4

A FF

- ETR

C. % 12 I
D. I~11% 1

14. Car P is 10m to the south of Car Q.
Car R is 10m to the west of Car P.
In which direction is Car R from

Car Q?

A. south-east N

T
B. north-east carQ

4 10m

Isouth—west carR ;1 <P

D. north-west

R — 3 9




15. Which of the following figures has | 15. = 7[v%— i B]4;F & 7 iF 40
the most number of lines of #h ?

symmetry?

A. B. | C. D.
e

0 2 1
23
T =2 S
>
16. The above is the net of a cube. 16. F BlE - B > 8B AR o
When it is folded into a box, the TR UBIELEIE | =L g
face with | = | is at the top. Which TR IR o 2% £ F R IR AL T R
of the following shapes is at the - BRI ?
bottom of the box?
A. |53 A. | E3
B.[> —5 & B. [>
| o |
E i E
D. [= - D. [




8cm

8cm 8cm

18cm

17. Andy has two pieces of triangular
plastic board of the same size and

18cm 18cm

17. k35 A ¥ fplechz £252
—ﬂb.&—%l]/}i/}—t;a—gri g}w—i—f[—\ o T

one piece of rectangular plastic F|oR— B A F A d 5= B
board as shown above. Which of the FHELEIR?
following figures cannot be made by
fitting the three pieces of plastic
board together? A %
A. triangle A = &7
B. _
B. rectangle g}“&cm B. £ 3
18cm PRV
C. parallelogram (50) C. Ti7w fa;
l square LT ] l T A
e
C. ] |
18. The perimeter of the rectangle is 18. en® B E2_beem o ¥k £ B
56cm. If the length is 3 times the {F{? B3 & iEBE > A50
width, what is the area of the 850579

rectangle?

A. 98cm? The sum of the length and width of the A. 98cm?2 E3hE REBARZ fod !

rectangle is:

56+2 = 28(cm) »

56+2 =28(cm) £+ 25ehE B B3 s
I 147¢mM? The length of a rectangle is 3 tjmes its I 147¢cm? PEEIRARDS |

width, so the sum of the length and
C. 294cm? Wwidth is 4 times the width.
The width of the rectangle is:

o 28+4=7(cm)

D. 392cm The area of the rectangle is:

(7x3)x7 = 147(cm?)

SRR IR R 2 LR R 4

2 ®
C.294cm* ;.. g

5 28+4 =7(cm)
D. 392cm* £ = =56 4 2
(7x3)x7 = 147(cm?

10



16cm

4cm

12cm 4cm

/' —~2cm

2cm

19. Two rectangles of the same size are
placed together. Parts of them are
overlapped and a white portion is cut
away as shown in the above figure.
What is the area of the shaded part?

Area of the shaded part = Areg
Area of the overlapped part—A4
The overlapped part is a squarg.

A. 380cm?
Its side is: 4x2 = 8(cm)

B. 320cm? The white part is a square.

Its side is: 4—2 = 2(cm)
I 316cm? The area of the shaded part is
D. 256cm? -

16X12X2—8X8—2X2
316(cm?)

19.

of a rectangle x 2—
Area of the white part

Wers S A B R E S A0 B
Ao B R B 6 4
Ao e B o ERENA 5 A

i3

LN
7o

8- PEL AN ohi ﬁ = £ 35 ﬁXZ
— £ G0 § A G AR
Tl F - @B AL
, VR L 4x2 = 8(cm)
B.320cm® s s sin - s

I AL6em? o B 2= 2(em)
cm

FE B3R A g #F A

80cm?

16X12X2—8X8—2X2

A C 12cm
= 12cm
20. In the above square, what is the 20. At Bleng > A50 H AL fhn
area of the shaded part? ALY
A. 288cm? Triangle B and Triangle C have the A. 288cm? = £7)B{r Cakird dple > 41
same base and height, so they have MG ffe e o FIR A RIIRA
2 the same area. Hence the arep of the 2 BAES Bz A Cita
B. 184cm shaded part is also equal to the total B. 184cm #
area of triangle A and triangle C. fo vl e SR A i A% §
I 144cm? o the area of the shaded paft is I 144¢cm?2 T EEE A A
(12+12)x12+2 (12-412) x12+2
D.72cm? = 144(cm) D.72cmz ™)

11



4cm 4cm

47

35cm

“&#5cm | /30cm
30cm

21. What is the volume of the above |21. ' Bl«h#fH A% > ?
figure?

A. 8400cm?®  The volume of the above figure is A. 8400cm® Bl R A A
30x30x35— (30— 4— 4)xB0x(35—5)

30x30x35— (30— 4— 4)x30x(35—5)
I 11700cm?3 = 11700(cm?) I 11700cm?® = 11700(cm?)
C. 13500cm?® C. 13500cm?
D. 15000cm? D. 15000cm?

< > <& >

3cm 9cm
22. According to the above figure, 22. 1Pt Bl T A UR- I 4y ik B0 A
which of the following descriptions 7 i i = Fxd
: Area of a triangle = BasexHeight B o 2
is correct? g 2 SEXSY feZE i
The heights of X, Y and Z are the samg. XfeZ chikip % o
The bases of X and Z are.the same. y o
A. The area of ¥ 18 six fimes ALY i A X e 1 oo
as large as that of X. ALY i HAX 3 R o
A. The area of Y is three times as large as that/of X.
B. The area of X is smaller than B. X ehg ffv+ Z | o
that of Z.
I The area of Y is larger than I Y o fg vt Xfr Z i m
the total area of X and Z. B oo
D. The area of Z is smaller than D.Z e gt X e] o
that of X. BfrD:Z{r X Ha fidp s o
B-are-D—Fhe-areas-ei>4and-Zare-the-sames




81cm?

—9cm?

4cm?

23. The above figure is formed by three
squares and a trapezium. What is the
area of the trapezium?

l 1ocm2 81 =9x9,9=3x3,4 =2x2
The sides of the three squares 3

B. 20cm?

The area of the trapezium is

9cm, 3cm and 2cm respectively.

23. M RIAGEA = B A ge- B

PR o A G fF S 7

81=9x9>9=3x3>4=2x2
BN i S
9cm ~ 3cm - 2cm o

B ehi A L

=)

C.26cmz &) On( S A C. 26cm2 (2+3)+(9—3-2)+2
=10(cm?)
D. 45¢cm? D. 45cm?
5cm
F Tem 13cm
20cm (20—5x%2)cm
Figure 1 : Figure 2
- 7cm o B =

24. After the cuboid formed by the net in
Figure 1 is combined with the solid
in Figure 2, a cube of side 13cm is
formed. What is the volume of the
solid in Figure 2?

A. 350cm?3 The volume of the solid in
Figure 2 is
3 13x13x13—7x5%x(20—5x2)

I 1847cm?
D. 2197cm?

24. = Bl- iSRRI A L S 8
s B|4F 7 14 ‘ft’]%]_: e Y e
- B £ & _13cm s = 8 o Bl

SRR E S Y

A. 350cm?® - A AL

13x13%x13 —7x5%(20 —5x2)
B. 1672¢m?3 = 1847(cm?)
I 1847cm?

D. 2197cm?

13



Sales of Sandwiches in Lucky Restaurant Yesterday

R, NI

oz Pt §

7T

Each

. stands for 10 sandwiches

=

= B A 10 2= s
Egg Sandwich Tuna Sandwich Beef Sandwich Ham Sandwich
= S LE AP N RS L
Type of Sandwich

Z SRR

25. The above chart shows the sales of
sandwiches in Lucky Restaurant
yesterday, but part of it is covered
with dirt. It is given that Lucky
Restaurant sold 200 sandwiches
yesterday, and the sales of tuna
sandwiches is 3 times as that of beef
sandwiches. How many @ should
there be in the column of tuna
sandwich?

A. 3 The total number of &5 in the
pictogram should be

200+10
I 9 =20

The number of %ﬁ in the colunin

C.10 of tuna sandwich should be
(20— 6 2)+4x3
D.12 =9

25. r

A.3

C.10
D. 12

EEE LY 5

o

R — |
200+10

= 20( 1)

BEEAZP -
(20— 6—2)+4x3

= 9( i)

= ?

il
P —
N —

14



Number of Students Who were late in the Past Five Days

W2 T XA T 4 A g

12 Boys
” 10 B [ g 4
g, o o
=g -4 — - 2
D 6
O — —
Su 4
g - —
p 7 B
0
Monday Tuesday Wednesday Thursday Friday
53— D3 8= EPw 897
Day
p3

26. The above graph showed the
number of students who were late
in the past five days. Which day’s
total number of students who were
late was exactly 2 times the total
number of students who were late
on Thursday?

l Monday Monday: 549 = 14
Tuesday: 6+4 =10

26

P RIEEL T BT A A
HooR— T il B A Bk 45 2% 3

w2 %9

B oan-

Ef- 15+9=14
A= 16+4=10

B. Tuesday Wednesday: 8+7 =15 B. & Hp - k= 18+7=15
Thursday: 3+4 =7 ke 134+4=7
Friday: 4+5=9 - E# 7T 1445=9
C. Wednesday 2= 14 C. 2= 7x2 = 14
. So the total number of sthdents who WerE) . % — e T A fich]4F
D. Friday late on Monday was exagtly 2 timeson D. % #P I EPE 2 8 e
Thursday.

e

15



Number of Spectators Watching Basketball Matches Last Week

Eﬁpﬁ:j gk %é’ﬁﬁiﬂx&ﬁx

Number of Spectators

Sunday
28 p

Monday Tuesday
5 8- D3

27. Jim wanted to use the above graph to
show the number of spectators
watching basketball matches last
week. However, he forgot to indicate
the number of spectators on Saturday
in the graph. If the total number of
spectators of the top two days was
1850, how many spectators were
there on Saturday?

A. 700 From Sunday to Friday, the number
spectators of the top two days was:
900+850 = 1750

B. 800 1750 <1850

So the top two days were Tuesday 4

C. 850 Saturday.

The number of spectators on Saturd
950 1850—900 =950

Wednesday Thursday
5 = 8z
Day
p3
27. £4e ¥ L Blh A7 A P B

N S5 Y 3

Friday
@7

Saturday
5 8

/

=
N

—»

B B R A B e o % A

Ty
P

RN R S - IRV

A 700 B8P I EHT RN Bk
% ik X _‘4}, :

900+850 =1750( *)

1750< 1850

Tt g f et X R A

R ER T S R

B o oA Biei

1850—900 = 950( ~ )

B. 800

nd C. 850

Bl o050

ay was:

1

6




28. There were 10 participants in a
camping activity. If the rental fee
for hiring car was $y and the rental
fee for tents for each participant
was $90. What was the total cost
for this activity?

A. $(10y-+90)

The total cost was

y-+90Xx10
B. $(y+90) = $(y+900)
C. $10(y +90)
l $(y+900)

-~

A. $(10y+90) @z L
y+90x10

B. $(y+90) = $(y+900)

C. $10(y+90)

l $(y+900)

29. If 5P = 105, then P+16 = ?

29. 4% 5P =105 7R P+16=7

A.5 5P = 105 A.5
B. 21 | B. 21
P+16=21+1p=37
Bl 37 By
D.525 D. 525
B ATAEA B ® % (] 5) 17



30. Study the following expression: 30. BLEM T g N
RI|7 RI|7
+1S||8 +1S||8
91|S 91|S
Find the result of RxS. 45 4 RS ehjg % o
A.8 7+8=15505=5, A.8 7+8=15>%S=5;
R+5=9—-1,s0R=3 R+5=9—1> % R=3
B.10 RxS=3x5=15 B. 10 RxS=3x5=15
JE B
D. 35 D. 35

End of Section A

L)

BATALLH €% (] 5) 18



SECTION B (40 marks)

Working steps must be shown in answering

questions in this section unless specified
otherwise.

z 3 (40 &)
g%:}%gﬂjﬁp? o A E AIRETRERE 0 R
HER e

5cm

Figure 1
E%‘]__

Figure 2
Bl =

31. The plastic sheet in Figure 1 is
formed by one square and four
trapeziums of the same size and
shape. Nancy used this plastic
sheet to fold into the bottle in
Figure 2.

(@) In Figure 1, what is the area of
the plastic sheet?  [4 marks]

9x9+ (5+9)x10+2x4
=361
The area of the plastic sheet is 361cm?.

(b) In Figure 2, the capacity of the
bottle is 450cm?3. If Nancy uses

this kind of bottle to hold

1560cm? of vinegar, how many

bottles can be fully filled at

most? (Give the answer only)
{2 marks]

1560 45
=3...210

31 M- e 4 Rd - B2 e
B4 ] oA AR e b e
2o HTR AN HR IS Bl o oy

3 o

O ERETECE S R
9%x9+(5+9)x10+2x4 [4 lu\]

=361
95 ehd ff 4361cm?e

(b) 2B = » &R+ Tz £
450cm® o 4 % ATIR * 1T A0HY
+ 4 B 1560cm® hfis » 4
B ST REE S UI2(VAEDR
NER)

3 \
1560+450 [2 % ]

W5 T BS 3L

3 botties can be fuitv fitfedarmost:

19



32. The graph below shows the amount
of teapot produced and ordered in
shop W last five months. When the
amount produced is greater than the
amount ordered in a certain month,
the staff puts the remaining in the
warehouse. When the amount
produced is less than the amount
ordered in a certain month, the staff
uses the teapot in the warehouse
to fulfill the orders.

32. TR WREL SR K
SEN- B S0y 3R S-Sl |
EIWTREORA AT DR
GTHREARF R AR
WIHEREOLR g R Y §E RS
F o g o

Amount of Teapot Produced and Ordered in Shop W Last Five Months

Wi 7 @ chpgrd 8 fosmpb 8

9
B ] ] Amount

8
= ST [ Produced
S % ~ B ] i )3» 'E'
SBabl -
Spre
z 254 ordere
scial TR
= 2
< N

1 =

0 July August  September October November

= A N A aL ] L x L _

Month

I

A
7

(@) In which month was the greatest
difference between the amount
of teapot produced and ordered?

(Give the answer only)
November

July: 750 —600 = 150(teapots)
August : 750 —750 = O(teapots)

September : 900 —800 = 100(teapots)
October : 850— 700 = 150(teapots)

[2 marks]

ORTER NS EERE S
MEARAERS 2(R AR E

:& L _ \
7'T>; 11 750—600 = 150( i#) [2 g ]

A v 1 750—750 = O( 1)

4 7 :900—800 = 100( &)
19 1 850—700 = 150( i)
1 % :850—650 = 200( &)

November : 850 — 650 = 200(teapots)
BATA A H & X (-] 5)

20



(b) From July to September, do you
think shop W had enough teapot
to fulfill the amount ordered?

Explain. [4 marks]
From July to September, shop W had:
750+ 750 -+800 — 600 — 750 — 900 = 50(teapots)
The amount produced was 50 teapots more than the
amount ordered in shop W by September. (Accept
any other reasonable explanations)

D) d =7 34" W L3S
KRR 32 A8 ik &G7
HE 7R - [4 ~ ]

950340 WS FE

750 -+ 750 +800 — 600 — 750 —900 = 50( )
EI4 AW RSREREARVATHE S0 B -
(¢ £ 7 4)
B39

enougn
33. Amy used 14 equilateral triangles
of the same size to form the shapes
in Figure 1 and Figure 2.

Figure 1
%‘] -
(@) On the answer sheet, draw all
the lines of symmetry of

Figure 1. [2 marks]

(b) If the perimeter of Figure 2 is
16cm longer than that of Figure
1, what is the perimeter of
Figure 2? (Give the answer

3. 3 3% 4B~ [k nEFz 4
A% Bl- % BlZ A5k o

Figure 2
Bl =
(@) g3t » F IE- g7y
S - [2 2]

(b) 4% B e o - a0
SR ERDER) [24]

80cm
Bl= h% Aot Bl- ok (10—8) ik

4z 848 -
only) [2 marks] Y8 g E L
80cm 16+(10—-8)
The perimeter of Figure 2 is longer than =8(cm)
that of Figure 1 with (10—8) equilateral Bl- che R2
triangle sides. 8x10
The side of an equilateral triangle is =80(cm)
16+(10—8)
=8(cm)
The perimeter of Figure 2 is
8x10

soar & D)



=95

. 11
34. (a) There are 304 members in the 34.(a) ref B3 =~ H 3041487 16
. 11
acrobatic troupe, ;¢ of them are 29 ML 'ri’ﬁ 5049 [44]
11
304 (1 1) male. How many members are 304x(1-7g)
=95
female ? [4 marks] Lpd 95 4
The number of female members is 95.
(b) The acrobatic troupe sets a stand (b) eHEBAafH%E T - B 5
on the stage, as shown below. FE o 4o Bl9TT o SRR E &
Each step of the stand has the R BEPE CFRTHE &
same width and same height. Boratmas > ? [44]
What is the volume of the stand?
0.6X0.6x0.6X 10 0.6X0.6x0.6X 10
=216 [4 marks] =216
The volume of the stand is 2.16m?, 0.6m BB S FE ek A 2 2.16me -
e \O.Gm
IO.Gm
24m | |
BATIAH @ % (] 5) 22



Football Class | Ceramics Class
IR EE e
Course fee Special price
, $4600
2 E T iy
Number of periods
- 10 12
¥ ik
Duration of each period (hour) 1 1;
Y PR (] ) 2
Fee for material (whole course)
— $800
W2 (28)

35. (a) If Ken enrolls for the ceramics
class and uses material, what is
the avyerage fee per hour for the

(4600-+800)+12+15
=300 ceranfics class? [4 marks]

The average fee per hour for the ceramics class is $300.
(b) There is a special price for the
football class. It is noted that its
course fee is half of the ceramics
class. What is the course fee for
the football class? (Use equation
to solve the problem and show

your working) [4 marks]
Let $x be the course fee for the football class.

35. () 4r% BRI I EFIY % *
Hl o ST 355 | g H

5u9 . [4 ~]
(4600+800)+12+15
= 300

AL FLT 305 ) pE % $300 -
EIRFIREFHFYER - R
Ev 2P EFARESII T
¥ o LIRTT 2 H F A
50 90CE* AN E

vt

(b)

;J;‘

-

WETRFLIYHE T A9 [4 ~]
2X = 4600
X = 2300

KRy x i 8 % %2300 -

2x = 4600
X = 2300
The course fee for the football class is $2300.

23



36. The following is the floor plan of
the area around a school.

36. T AL FRE RSP 5

Cingma
TR N 4_‘_
HoSpital
i
Supermarket
A2
Schpol BooKstore
%t £
(a) The Cinema is in the east of the @ ##Fmarad? - FRKA
Bookstore. Which direction is TR awi- 3 2 (R R E
the School from the Cinema? %) [2 %]
a A

(b)

(Give the answer only)
[2 marks]

north-west

During a big sale in the
Supermarket, all juice was sold
at ‘Buy 6 and get 2 free’. Ivy
bought 8 bottles of juice. Each
bottle of juice cost $12
originally. By how much was
each bottle of juice cheaper on

average? [4 marks]

12—12x6+8
=3

Each bottle of juice was cheaper by $3 on average.

(b)

AL H TR T

54 F 632 FHE 0 8y

o RALR B AS12, L0k

FREAgE 500 [4 ~]
12—12x6+8

=3
TioE skt g w0 $3e

(c) Karen and 3 classmates went to €) uhfr3 R EFTHIRg T
the Cinema to watch a film. B n B L F3EPBA6 P L
The price is $84.6 per ticket. B 2(RAEBNER)
How much should they pay 3384 [2 #]
total? (Give the answer only) 21,23 ff !

?T)::Fe; should pay [2 marks] -oues
84.6X4
= $338.4
End of Test Paper
Pl E =
B ATALAIH % () 5) 24



